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 MEC-006  

MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

December, 2022 

 

MEC-006 : PUBLIC ECONOMICS 

Time : 3 hours Maximum Marks : 100 

Note :  Attempt questions from each section as per 

instructions given.  

SECTION A 

Attempt any two questions from this section in about 

700 words each. 2 20=40 

1. ‘‘Public Choice Theory is an application of 

economics to the study of politics.’’ Discuss. 

2. State the Inverse Elasticity Rule of optimal 

commodity taxation proposed by Ramsey. 

Discuss its implications in terms of efficiency and 

equity.    

3. Discuss the devolution of functions across 

different levels of Government in a federal  

set-up. 

4. Why should deficit in the budget be financed by 

borrowing rather than by monetization ? Explain.  
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SECTION B 

Attempt any five questions from this section in about 

400 words each. 512=60 

5. What is meant by Social Cost ? In what ways can 

they be internalized ?  

6. Explain the term ‘Tax Evasion’.   

7. What are the basic characteristics of pure public 

goods ? Explain.  

8. How does ‘Public Economics’ differ from ‘Public 

Finance’ ?   

9. Distinguish between the theories of ‘first best’ 

and ‘second best’ in the designing of public policy.  

10. How is internal public debt different from 

internal public liabilities ? What is the 

composition of public deposits in India ?  

11. Explain the optimal size of community for a 

given level of public goods. 

12. Write short notes on any two of the following :  

(a) Voting by Show of Hands vs. Voting by 

Walking with Feet 

(b) Marginal Cost Pricing in a Natural 

Monopoly 

(c) Social Choice 

(d) Benefit Received vs. Ability to Pay Approaches 

to Tax Equity 

(e) Strategic Voting 
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 E_.B©.gr.-006  

E_.E. (AW©emñÌ) 
gÌm§V narjm 

{Xgå~a, 2022 

 

E_.B©.gr.-006 : bmoH$ AW©emñÌ 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  {XE JE {ZX}emZwgma àË`oH$ ^mJ go àíZm| Ho$ CÎma Xr{OE & 
 

^mJ H$ 

Bg ^mJ go {H$Ýht Xmo àíZm| Ho$ CÎma bJ^J 700 eãXm| (àË`oH$) _|  
Xr{OE &       220=40 

1. ‘‘bmoH$ M`Z {gÕm§V amOZr{V Ho$ AÜ``Z na AW©emñÌ H$m 

AZwà`moJ h¡ &’’ {ddoMZm H$s{OE & 

2. am_go Ûmam à{Vnm{XV AZwHy$bV_ nXmW© H$amamonU Ho$ 

{dnarV bmoM {Z`_ H$s ì`m»`m H$s{OE & Hw$ebVm Am¡a 

g_Vm Ho$ nXm| _| BgHo$ {Z{hVmWm] H$s {ddoMZm H$s{OE & 

3. EH$ g§Kr` àUmbr _| gaH$ma Ho$ {d{^Þ ñVam| _| H$m`m] Ho$ 

hñVm§VaU (devolution of functions) H$s {ddoMZm  

H$s{OE & 

4. ~OQ> _| KmQ>o H$mo _wÐrH$aU Ho$ ~Om` G$U go {dÎmnmo{fV 

Š`m| {H$`m OmZm Mm{hE ? ñnï> H$s{OE &  
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^mJ> I 

Bg ^mJ> go {H$Ýht nm±M àíZm| Ho$ CÎma bJ^J 400 eãXm| (àË`oH$) _| 
Xr{OE &      512=60 

5. ‘gm_m{OH$ bmJV’ go Š`m VmËn`© h¡ ? {H$Z VarH$m| go CÝh| 
Am§V[aH$ ~Zm`m Om gH$Vm h¡ ?  

6. ‘H$a d§MZ’ eãX H$s ì`m»`m H$s{OE & 

7. {dewÕ bmoH$ nXmWm] H$s Š`m _yb^yV {deofVmE± h¢ ? ì`m»`m  
H$s{OE &  

8. ‘bmoH$ AW©emñÌ’ {H$g àH$ma ‘bmoH$ {dÎm’ go {^Þ h¡ ?   

9. bmoH$ Zr{V H$s aMZm H$aZo _| ‘àW_ loîR>’ Am¡a ‘{ÛVr` 

loîR>’ Ho$ {gÕm§Vm| Ho$ _Ü` A§Va ñnï> H$s{OE & 

10. Am§V[aH$ bmoH$ G$U {H$g àH$ma Am§V[aH$ bmoH$ Xo`VmAm| go 
{^Þ h¡ ? ^maV _| bmoH$ O_mAm| H$s g§aMZm Š`m h¡ ?    

11. bmoH$ nXmWm] Ho$ EH$ {XE JE ñVa hoVw g_wXm` Ho$ 
AZwHy$bV_ AmH$ma H$s ì`m»`m H$s{OE &  

12. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{já {Q>ßn{U`m±> {b{IE : 

(H$) hmW {XIm H$a _VXmZ Ed§ n¡am| go MbH$a _VXmZ  

(I) àmH¥${VH$ ({dewÕ) EH$m{YH$ma _| gr_m§V bmJV 

H$s_V-{ZYm©aU   

(J) gm_m{OH$ M`Z  

(K) H$a g_Vm Ho$ {bE àmß` bm^ Am¡a ^wJVmZ j_Vm 

Ñ{îQ>H$moU   

(L>) aUZr{VH$ _VXmZ   


